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Select the one most appropriate answer for each question

1) Which of the following is an L- amino acid   molecule

2) A  reducing sugar is one that : 

a) can form a free aldehyde group

b) has an acid functional group

c) has a six member ring structure

d) is a five carbon sugar

3) Which of the following is a non-reducing sugar?

a) sucrose

b) maltose

c) lactose

d) galactose

4)
Which of the above sugars is a monosaccharide?  

5)         Which of the following is a D (-)sugar?

a) glucose

b) fructose

c) sucrose

d) maltose

6) Which of the following is maltose?

7)`
Which way does a D (+) sugar rotate polarized light?

a) Clockwise


d)     not at all

b) Anticlockwise

e)     not transparent

8) Which of the following D sugars is a pentose

a) Glucose

d)  ribose

b) Fructose

e)  maltose

9) In the following structure which of the carbons is chiral?

10)
A straight chain polymer of glucose with 1000 units long is called

a) amylose

c)    dextrin

b) amylopectin
d)    dextrose

11)  
A fatty acid with a double bond between   9 and 10 carbons is probably a:

a) mono-unsaturated fatty acid

b) polyunsaturated fatty acid 

c) prostaglandin

d) trans-unstaturated

12) A fatty acid with a double bond between   3 and 4 carbons is probably a:

a)    mono-unsaturated fatty acid

c) polyunsaturated fatty acid

d) prostaglandin

e) trans-unstaturated

13)
Which of the following is an all CIS fatty acid?


a) 


b)


c)


d)

14)  Which of the following is a basic amino acid?

a) An amino acid with two amino groups

b) An amino acid with two acid groups

c) An amino acid with an hydroxyl group

d) An amino acid with a sulfur  group

15) Which of the following is an aromatic amino acid?

a) alanine

b) phenylalanine

c) glutamic acid

d) serine

16) Which of the following occurs between adjacent peptide chains?

a) sequence of amino acids

b) -helix

c) folding of the protein chain

d) -pleated sheet

17) Which of the following is a secondary structure of protein?

e) sequence of amino acids

f) -helix

g) folding of the protein chain

h) association between two or more chains

18) Which of the following is the primary structure of protein

a) sequence of amino acids

b) -helix

c) folding of the protein chain

d) association between two or more polypeptides

19) Which bases pairs are possible in a rare double helix RNA?
a) T and G

b) U and A

c) T and A

d) G and U

20)  The bonds attaching nucleotides in DNA along the polymer chain is between 

a) phosphate and phosphate

b) phosphate and ribose

c) phosphate and deoxyribose

d) phosphate and base

21) The bonds holding the two chains in a double helix are :

a) hydrogen bonds

b) ionic bonds

c) sulfur bridges

d) phosphate links

Answer the remaining questions on lined paper

22) Name a 6  carbon keto-sugar

23) What is the primary structure of a protein?

24) What is tertiary structure of protein?

25) What is a trans double bond

26) What type of compound is tristearin

27) How can an oil be made a solid fat

28) What is an essential fatty acid

29) Why are polyunsaturated fats easier to oxidize than saturated fat

30) Outline the process of auto-oxidation

31) How is non-enzymic browning prevented in dried fruit?

32) How is non enzymic browning prevented in dried egg production

33) What is the differences between  DNA  and RNA

